T (AW

63 -E..!gp;iiﬂul.‘fasﬁnl{-_;uf u‘—? J/-,-D?b’d’rﬁh"

[a] %0t
23116679

Q. No. 2 (i) D’v‘“”ﬂ o Storm (“qn+3‘f0rm] e is tade +o
atoy inside  owtomokle botase at  owtomoblle it
ot o oh metal so all4he chacge (’leooyr)ed byl
Uclht J%rm Yevdel on sud\ato\cﬂ\ car and no
ot everin. Thereddre plectit hicld iy 7o
[nSide cor.a Pene jk s very mha, 4o be intide
ox vahidle 10 ta)e H\ (JthjfnnT) tD avod\anu
hazacd 04\ ete,dmc chorqe i
Iasid e QOr QD=0
S0 ) E=l@®

T
¥V E=0
Q. No. 2 (i) {a1iven:
O, = Sxio 8¢ le = 4.0 %109 Nma?
@ =—5x08&C 'Tt.'.:'{ Y =
Gl = lE)Qm =06 Ezl t @
_A_P_"a ply e IG FT— __E
—coppore_at point 0, Pokatial v Zuy " 016 -
=Va+4Vp
= Wt + kG Tee £ S Ya=dbg
0y Y.
= _Cioxm“)(smo’?) y 1€G-0%10%) (- 3x1173)
n o6 -n

(A0x10%) (1 5x107)_ (A0 (oxivy) 5 12 _ ¢

o al _~a V4 .. — "




LT 1

The relevant question should be answered only in the allotted space and inside the outer mark
2 ¥ 3 23116679

Q. No. 2(,",90\-“\“4\ Adivder:. Potenial Adivider is &
Wi'e_ wgond Veiable yesivtte whidh prvide vaciable
poteatia) dioreare 4romn fixed p'okn’nai dipjoronce.
DOFEN\TG\ owv)dgx . Shown. et R be

Youion L oy Wik AL ond T be wrrent | 0T~
hrough 1k T=M éﬁ’\ 5,
I 5 e ==V
Now wing s\Uding cintack O dha v-—‘=%
ms{:domtousb ()ori\Wlon BC canloe : % ¥
vaded Yotwoon ( cad ) y € i) b 3'5

moved towooedy A fhﬂo_ Qaanﬂx ¥ aystonte  nteary Y
pokatial nc,rQaAeJ and vice Veao. T = Vec
Voo o Rec

-

Re ¢ K VbQ:Il&L/R*Y_

Q. No. 2 (iv) maY-I‘Y\UM pOWU **0"41\9-‘" Whaon 4he iotenal

reNsdonce  of e Souta 0nd \0ad ralityonte e

e U\ , mMoimum powes iy traoihomed in ciemit.
teasider Cireudl Q) thown- Y

1‘H|Ui\CL\ 'Qk‘bm{ritﬁ a"d [,\ \.3 &Odff-& r'ﬁA%n{i % 4
T £ L
&)

oA Yonto . Power delivered to L
Loadk 1y Pout=T2p T )
Puui-: %1K ﬁ'l;&
CrR)® V4R,
Pou\—-:.-_ e 2
L:p:)L+qu

now pPower Will be mitimum When y=Hh
Y i T ) = e !




l'%% LU AERR

03 2 _bgup"hf. uif'aw;ﬁ/, ,.._gu/ru‘-?..!}‘ A K 56

Q. No. 2 (v) Two wieA Orrying Corfent g Dwogﬁo_
AirecTon T G,pd ea.ch O'Htru e tanye ‘Tha maﬂnejh't
Pl&ld [a Yoqmo bz‘mmqﬂfe a\re \ 11 duve ajf& 1N

camae die kb cand we  krow ST A Tt
that same magrehic kteld rapel 6 B
Qo.M G’H"){}i ;f)lnerQ"FQr@ +UUO whre s wire "
repel .

e A wire P

Q. No. 2 (vi) @Qa\Vanomekori- ha\vGoornneke ¢ ic on edecirical
Aevite oted b meadlr? Spll Coreent T W0 ks © A
@’iﬂdph thak covvent COrr\G{flaqp o) in mafﬂngh'(_ —bldd
expesicneol Fogud.
Iqe—fmi\ = Tx\0"> A
ﬂc\ﬁ.lbOil
W = Sy

B2

RveV Ry 20 100
Tq \ Cx\p=>
Izh.": ?)C{O()_n..
to malce Voldenekts of, 20V range , Connak 1400 .0




IR AR

The relevant question should be answered only in the allotted space and inside the outer mark

ok
23116679

Q. No. 2 (vii) TFOHSMer/{ caano} 1acreale ov decoouye
Dower (abhen  tE tshuled s sbinaihed POV eA_
hmm op  voltege andl | cumen |- I(ZvelQ fhocfﬂ/w\
Thoro fore Skep up EvOaipomer canndk jnoease
muuuc/k . It Can c;,«\lq vnecoaje VOHO@\Q ancg

cbecm.am curronls . Sl{“p vy t?wsmrmau)
Showni-

o
“p
L

rv\/\!

-----------------------------------------------------------------------

Q. No. 2 (viii)
Seeond POAYIAKE:- electvon Cannck ravolve aroond
nuwloa in any qrblhralu arloit - On\q'Theze sibaoe f)oSS'le b,
which qu-.doi tmendum 6} elechun i nteqral mul’nplc' ah
| docto e "‘/11& = mvy =nh/) &

T+ wo \')Ylwed by debroglie ja 1923 Qﬂtﬂfdb’?c:( o im
wO\.c)Qoq"fk 0 %1“-4* by /\""h/mv f'_\cao_h'un Con
ock ¢ o wave like wave otk a) (O‘lf’hLLﬂ an& waove
con By In tey ol ad vadee.
Z~X\n=1 | LRy =r\
\" LL:::J} } LAY =nh /my
(Z@sﬂ J __cp VY =\

7/ a NS




rs@% G AR

07 -2l Lol el Sz 2%111669

Q. No. 2 (ix) \n oo {dQ&L Cﬁ\p@LU‘h}! LYY 0 \mdj VQ(’\‘&%{
bu\ 7‘!4 roxci 6c A0~ ‘U\Q WOy 0 CUOQTQN] {'J q'gve;\ bq
hfbm 0—-4qo bo*l’h pu;rmnk and Vn[f‘rOQQ C;:*a
00)\ Vo o powel iy poyidive > poweA
O“d ') dﬁl“’ﬂl’@d* Agom Source o N\ = ?_I‘ s
cret . duving nex FA0° both | feafAs Arobey
pra GPDDM‘T@ usa wuwmdo,live@ﬁ = APV

(s naqahve end Ao o n protedd centinvel, e vee thot
wm\’rwa powed i aqual k negedhive pusey dnoetoce
('QFUJ POWOA Jy <Taso

P =&vonilvmi7 v VVndinw k
P;VmIm {Sirw k¢ losw k> ] T COMW L—
P =VenT e (O)

P = 0 Wakk:

QNo.2(x) 10 2 L Serle)d clecanilt Coreny taq; “Hrr-bekind
ciplied valtage - [ndvcioe cppoel chonge A hLow o)
Covient Ond Servel daloq I muaase o doorease ol
coont, \n nducky V leads T amd in Reyiyhs

bt e in phase. pratec dliogram sy AL fouied ¢ Clrov't

X =) A A\

‘gbm AN GO0 “we Yoo thal- Vi y =

Ve [Viz¢ Vl::'- = T [azspe - @{ SN/

_-\—f: = e = M | pzas e P I

= m g
Cb = ton™! VL./“‘_ = toa™ ( YN\ | %\-—
b (‘)\K&q-r&'w: IL‘h"\l C’au;ﬁt};mb (urreny _(S?-_: L
! . : 4B o wigm




-

I T

i E%,.Ei
08 The relevant question should be answered only in the allotied space and inside the outer mark =

23116679

. No.z(xi).Po"ﬂmanh‘- = Tho orboital ced \Din aki of
elechon are a\\qmrm « Uuaq b oud eaoh oo, Feld aad
besrs B4GnLY Qek mothmd meam i e hoa ofy
maqnchr_ﬂ@_lé wshea ]t i applied sq ﬂ\ay\ are_elealely
u,ttToLcJ&A bu nnaLc\nQ} e ( AinUnum, anhmoﬂq)
Dmaqmﬁ]c ﬂe 0rb1M\g1 Sp oy Q'l\(?_l@beQr\ Coneol
eoch mmn ehped-. ln presento o mdqnakic f\tc:lcl The 4 gelk-
mc.qnaj\m(\ A Q;Op{s)lk &lr@cbm aodara raﬁe,lmd laq mcrqndb
. ZinC jCapved bismuth,
&Wum&qneht.. qu b, hrhave ik moqf\c)r ond
U‘OS'*OJ\LQ Dd‘ mathlccl N ableaco o) ernc\l Fold.
Mkr o vvlufnq maqmj\ Lf,\o_ﬂ dhose  sviatronteA ace
A\Ybng\q} aroded b4 agneds. Ty tondisr w

MCANe HTC donaun | ﬂ =) lfoq Cobalk | Niteed
3
Q. No. 2 (xii) ﬂw Jthveys S Waun (t-)
Corve for aQ.ULC/MQ maleq c& R ik

maluiad b <howa, Thete malwacd VS
ch('.ulﬁai Laqk&ﬁeu a0 d
con be  eaqily wo:lcn_i vt
ey hare a,gﬂbl:q fo_acbgo /IR ,
m 3% nelqy an&fl'lr\mmxg o Sau » =
he dudoupn ook 19 dlua —”futaa(& Dilce £Quckrived.
@’ﬁ&tﬂ-‘f’ (A dﬂc&la maﬂc,uai_J The OoTy and f)fﬂd‘wg
_puint e fauapart - groimples one

_wﬁL 00, edmvghtt fren, {ow Cowr boq §Feel d"t

6’1\,-(,! If
[~ —
|




LT A

£ IgL.uifJ: ulﬁ:[}},g.r.-l/’ ./.;uji};? /T Fl 5

Q. No. 2 (xiii) Mc’ﬂ\ﬂe)ﬂ( loxfahon o+ N\qq\@r houn

ool O DYFhU\ﬂd Oh \upafcor\d_)\)d‘ba rﬂf\e haun 1y

nocl ¢ m Mwend ) U-x&hapeol Necle mnade

ok Wguputondﬁd‘nq wWhich n'mwcLQ qu

&.Uc)nca maam,h( Nel& end. Tadaste I"V\OCW\G,hL

Nc/ld In U_OJ'\ dlu&hj COrveot n +Hom . QG'H-—

Nc,lds AGDQL CnA (Alun yemain Suwmdﬂcl N

mdtk Ty allows Blaie b oclexs theredile
QPC(’.d oy XS Mlﬁ’b\ bm elomimmabog 4echon
be tween  Than an& badé

------------------------------------------------------------

Q.No.2 (xiv)_1Yantiztos  pare colled Courreot omthlUr'
Aorice  becovse dhey provide Largc c_urrmena‘
\roHoqe C\Cuq MD%} L!Cjﬂ&q«l ‘ﬂrﬁrc 0 tarqe
rjoré_nhcd\ o\xop OCC 1oL cmhoudf Collee e TediNtone
u)\r\\c)r\ (Areeye ) amlﬂl{*vcﬁc) ety have an COmmds
cnibker ansizbor.  The ovrieat gadn ) Ai-en by
B=T o ool BTy :
Te
whe b 1y curcent 460'1- Lo anWf Curreat Y T¢ ))
uuhﬂui‘t,uwo_r\”f Svppl))e VOJJ/Q oh B = low . Now hokr
Qma,u ba\ correnk (Fore_q J-Uﬁr) we Wil havye chq

lorge ovbput corcent (I<;- L0ook), Thaty why




rﬁ ARV AR

10 The relevant question should be answered only in the allotted space and inside the outer mark

)73t
23116679

Q. No. 2 (xv)

Q. No. 2 (xvi)_9 haelithon we rane

Te =sAle
o =T [T
: < Y b one &my)"ﬁ\mh'm
Yc=PBTp o Ureo
B =T,
A
’2": :E(._ o IC‘/IE
j:l?; 1[2,/:[*‘?

B = o = o
Te—te (—Is

—

o

~LEe = LL+I|5




JEERRERERAR AT

_L@Lu;r[.uﬁds_sm/'juff .Jf.,,l,zm,- iy

O}z
23116679

Q. No. 2 (xvii) C:Zi\ﬂn -

Ae=108s
TCQELU'N-J te
#FZ)N"Y\\A_L& =

bEs?

PE . A= 9,\

Lo LuBens -

AE - b.b26 U sY Ty
U8 4
[AF - (;\(,’lbxm"""“-‘jx




[ARTRRRORATTIRR

The relevant question should be answered oaly in the alloted space and inside the outer mark

Q. No. 2 (xviii) for PC&C}’\_@‘ feto) we bhave

EIF
23116679

P B

seecnd lnp =) n=d

voavelenatn ity Given by
3 N 1

1 _regayxwti U 4 1

A UPe el

| ogauao®t L))

A (7]

1 - K09 2327 md

~

A= LRI ob

L

e =118 am]




R
[=] g _LQLJJJFLUE"J;C.'JJU'.._C;);J? .J'/‘.,rlzh'dl:’:-b" :

13

3
23116679

Q. No. 2 (xix)
la scder o Ochiexo hosin dhe two nvekic mnk
be _moved cloxed 10 0o0n otha  With 6 qreak
Qﬂaad by domé} Woce oad\worn . dor "Hr\u \&r%e
Hm‘O \)U req Uui(c_cs 0\ C\TQOU\ as L0 milljon
cloacoe col civ. i Rmvmodmrg Can be Very
A\X-\'\U&l'} fo acivere an d ™ Qo §oun wlr\(\IU‘r\
MA k0ot VFUS\UO & 'Hk'lc,u.Lf J’U aohen e .




T UMMM

14 The relevant question should be answered only in the allotted space and inside the outer mark

E‘ n ":-i-n."
23116679

Q. No. 2 (xx)_&q uortkion!-

il 1Yy
QQII\h ) QLPQ "l‘,i)g'*‘v "‘Q
Yegred ..
@=)
Svwben 1.

o) ® i rost maly Aidtecence ),
LY T = 224.0Y%6 u

—_—
pr—

_r_g_g 234 .0Y2) 1 4+ 0000 ik 40
— = ABY.0YLLy

M LA 12038 = 250426 -2%U. QULL Y
L PN ™Mo

lu': q,_))] SMQ_V
3 C ot U= 0. 2DLEAY N\avf




al
=]

IR

JAATRTARARTAMBATI

2 blastd u&’aj yEas, £ Wruzs'_,-/‘ A2 K 51

X [ Bt
15 23116679

Q. No. 3 (Page 1/6)




e MW gz

The relevant question should be enswered only in the allotied space and inside the outer mark
16 q ¥ P 23116679

Q. No. 3 (Page 2/6)




VAR AR

Ll L bty TS P S i 3

O}z
23116679

Q. No. 3 (Page 3/6)




I"%% T ————

The relevant question should be answered only in the alloned ¢ and inside the outer mark
18 ¢ i . 23116679

Q. No. 3 (Page 4/6)




RS

Ll Lz s/ F S ¥ s

E
23116679

). No. 3 (Page 5/6)




A O

The relevant question should be answered only in the allotted space and inside the outer mark 231 1 669
Space for diagram/rough work

Q. No. 3 (Page 6/6)



l'% AT TR

'2 1 _LIgL:JJ?ILUt'—':(}w.uL;J;uf J" - __.:b?h'dfr;i;‘

Q. No. 4 (Page 1/6) —A%%

R-L-C Seried chremil \myedonte Reyonant trequeny
\mpedance -

Tho cembined edfeok of T2NsTon (s ond
Yoockontey 0 BC Cicount blmownaﬁ} lmpedante.

TE s oppovtiv ojjeied b hlowoly comeotd it
repraamwé b:»\J?E == v/'r\

23116679

e Ee_el(:m(,egb L-L-( drast:-

1o tervigw, Caoauh)r

aad \nduchor 1o\ne_(ﬁ (n Seriey formn RVC cedes Urask.,
(‘d\oqmm IS },hown] an*OO\e drop R
attveyy Ris TR ) OLY®y iy T & ka
accosy C =Ty, PN Comporeal, (y ¢ T
SHhOQ CermmOn cuTent oncl'ﬂ»\(z/ebme e
Drastc dLnaqmm Walveo by delerng wrrent gl @ tectenu

—

Va ckdr. 0\ Q\rcul a’of\\‘G\in ’)(Lucm d L U&a V4 VLY
Craade Wil be eifec (ndnebve or Capacitve. « T
Svppore XLoR( 180 qow Y8R/ Yon b veaho )b / .
VLY, fyfom duiosrom. e
Vo [Vez ¢ vevgt Ve 1PV
Ve {Tp2 g 02 (AL = diugram
Vel |p2afu-v)?
VaT [‘L-é_—ey— T XY (=R
Z = Yp2ax . TV -2

\mpedof\z,g tmoegle con Yo Fomed wWhith )
Alver O8 hnire Ay
[} [} s 5 &l | O &




MRV MR

bb) The relevant question should be answered only in the alloned space and inside the outer mark

(=1 ¥R
22 23116679

Q. No. 4 (Page 2/6)
m XL¥¢ §s povihive- ot 1ndvehva
iy KL Ae b ﬂa_q&hVQ oleaud IS veatshwe .
Poval hatioc i) chhlib L @ |

¥ [Py

Yei0n0nte cgadt Hon'-
W have thvcied CosC wone n Ko7k
o XLt Xy bvur wWhea X=X ag ke )\Rog
Gholien anyes . The edccunt beeome) OUA(L&;
Yeaizvive oot power h&Qh)( umLk,q 'ﬂnQ
fropucaty ot ek Oowl‘ T,
oo ety cad tvereating or deeraaning tralk
&k’hmg Wealy  reducel cu:Leren’\* The ﬂrqr_lﬂh 64
Lvapient U corrent iy lthown.,

orac i\
e = ‘f\Or QWJ\ Combina b 1 m
ok XL le(_ 'H\UQ I\ onM 0 n¢ .p-'/ 'l \_,L
rqcna.n'\‘ hraqumu "\1"?_:\19"\ 43/ ! \s’
)(L-*}(( L £\ \
IrdL = | 1 / T?‘(\ ki
] Lxdy-C . 7 ‘l \
fCrL = | £y i
gRe LC }
£Y= \ Lol
[urrL(

Hr |
2% [ILYE.
lmpo;lCmU. Gt veoncrtl = Z___‘ P-H'LXL,'-XL)
Z = K




s s
1]

TR

i

il )!f..ubdn; '/ﬁufu _:/..L?bur.wf 23116679

Q. No. 4 (Page 3/6) = (otcent iy maginuan
_ ""ﬂpw\ﬂr\& 1y AU m

» Circuit 1y reriyHve

 Bouse Withe v oot

(5

%-ragé
>< TQ“& Q@ clee byv m&CJﬂ@hL LAY CA

havmo. que_,le_ncﬁ% In ocdor h Onmmom Thero
bkﬂ\fd(’nq"f\f\ [ hrcm 0. L P AOOA 'Tinau ore

v A0 d by “innerihel) fronds Fon o elethront
m\o,q e aL\b ]Wad_uc,ﬂd ng—ubhan aC(e,\Qrcdodx
ChC\FO\(’& Qe slowed A pwn . “/‘YGUIJ ha«¢ U\S\d\(’ ram:m
M\ C(D\DI\CQNO o moc!licaﬂ .5uenh Hi Gnd mdfuJDHQﬂ
salld ¢ Aoy S pechum  f) Shiur»

P Tho #ray “Speahum (ontiv 43HNH L
oI\ Bwo IQOugh L0 NavOUN Yay \F'q ,.\{\O‘%Qj;"“ﬁ
mm\ CoH ol wmdm&lﬂh Ao ) \fl)v fi.g.
Clrw\ C/hC\rCLUﬂ\'tfth z(v—rowu Cmﬁﬁ?ﬁ@ \ /]
QhM\"C\ peak | |2 x & kjg \/L

qr\cQ AT \QJ/'] 4{ - \ > %
IN\U S\\QM fra an(ibion ¥~ mqg "

lr\ Y\Gavq elemen b
LWe molowdenum eleehonl are qrranqe.é\ 'n A dferen|-
onbitaly or shellt Sweh as 1, by MN[0 dhese elementy
the lNCnr\ LnafaeJhL clechony can kFoude oot ele¢tror
K™ inior Shall ohy ¥y forgels otem ey Uroobing




T U

24 h The relevant question should be answered only in'the allorted space and inside the outer mark

2?1169
Q. No. 4 (Page 4/6) lﬂﬂm moCGU N vy 014&!%4 Cua_
emitked. howing ww oqued B Gy
&rhhmu oh Lubd Lorels . SOPP0I ac @lo chon
'ﬁfbm I & Sheld_\s PIQ_CJ'QOL Now el oo
brom L, M N .. ~sml1s WiVl malee hontikon
b jU dhed vacandy  resy et vn 1’)'rbcLudwn
'4\ 1 ;l’lm i ey . tﬂmu (JJV\ACM ch Shiwhn
‘OU\ weah I _\IQC’CA"rumn Lot Lt i Ung) B4,
&\ijh he oohevod bu. {’T(ZOUhOn o]\ eleolvan
o | aeu-s Al 3y Bnoy o1’y
Y@Deohvdu [n Aame wioy Wighe line) Oan
bt Geded - Qch\aveo\ ‘Ené'rqu[ o k., l{ags are
aroatent. Thate ono COLJULQQ rhararmh%nhc YCN\
@tcause de\aq are Charaoihkeny Hic m\ roccack
mdr:d 0n A S&\?)&L&l‘iun (ﬂ\ Aad r&u& IOvel o l\

o Bnt vty
/W\/?% 2o deleron
e a0 %@?(} ool v 1
G @) ] "kl [l
e n;e R
\ P ,_&,;E_t

Lines oy fray.

~ C

(aiven'-
o T




[ LSRRTA

b L ylgmy fn/ S Sr iz

(I

Q. No. 4 (Page 5/6)
MDNL?\ ¥V on |00 abeta _

NE= ) o) o
TR =Py(L,-D)+E)=0. — =k STy |
'_Tl“".g(.f;'"rl) 45 =D A - A

- 2T, 4275, 45%=0
it 10 M . VO L |
[AT) - 3T, =] —-

applymq kvl on l06p bedeb.
LA ke |

—15R—Ey ~Ru(Ti-L) =0
~ar,—- 10<-3%3(T,-I))=0
= A 05 o Als 37,10
~ P, 4 23T, =LD

[£T, — 2T, =--10]-0.

mmuw‘p\a 1) b @) aed D bd 4 and add

U= L= Taeit
@-—;) J0Ty — 12 =-YO

LUl e -0
Lo TRAL
= S |

D Ul =202 21?)=Y
btj:lc: ““l“ﬁ’\
(T =—0-UYIrA|




LR R

The relevant question should be answered only in the allotted space and inside the outer mark 23 11 6 69
Space for diagram/rough work

Q. No. 4 (Page 6/6)



[TIRRONCUAU IO e R

_L@LJJiléuﬁ:asﬁ.ul/'.l;u[ u‘-f _J'/__.Leb'dlr.'ﬂa"‘ 23116679

Q. No. 5 (Page 1/6) / 4
~ A P—
NG

Phet velechvic Effeds- When Waht fally on
el ripre elechons ace emibed Theye elechyns
ura _called  Pwoto elegfunl ond Phenomensn iy Known ay

Photoelecknc pofpeck T

The p%anommbn o} p%OJ’OQJQWL o » E/J/g
eﬂ\ec/l“ Lo ! ’hff)}'" dudcorened bl,,

& enrﬂc/k Herf—z. n |87 and em}em @wptcmed HE i
Q0. The experimental curongmentt ( thown
Whin \\'qh"r of Certtun ypor ﬂm\r

Specipic hma wen( oy "5 colledkr

ﬁ\a\\\\ 09 Caﬂkc,&a md‘ak < A | adoabga
QJ@,Lh’(mg ol amilled and - : '
eolleated B talliokor wihiel| &0
(o ¢ c\abla\lwom'n el == +§ G"@
U cuyvent flows a\‘u};t.—“‘h"\"”\' |
pho\oe\or[z«m pf\l\omf IS "';l+
_wed thTGCQL( clreh, gl uJioLolq viod I'n
btuf?\uhkk Ohlfms; auhch-tJ clﬁormfru.

wae um\i malce Q) ~observa b sa U&lﬂq aQbave grronqamn(_r-

Flel phgt dele cYyic gpulment'-

We meaywe Stapping
wcﬂcn‘hc& bv\ Wiy metnod . The ch{hwz. < poyihve -
r}p_mmflal\ Gh bab\ery Oce [ﬂkrohanqed 82 Prads cal\eehy

he 0 sme\ hﬂqahW w*\%wmmdr h e_tha & dhw Starty
h r@DeL z\?o\'mrvj cmuv\ﬂol A4 Ccr'rouh S\DQUHL value




i'\_ o 2 ==
E 28 The relevant question should be answered only in the allotted space and inside the outer mark 2?1 16679

Q. No. 5 (Page 2/6) 31?)019\”4 DQROTIQ& Vo . A qhat 00}'30'\'\0&
LY Q(QOD&C\ LoH\f\ maxf'mUm lﬁmuh(_ e_nerqvj B
Lot ahpped b payy coleche, MER e Rt
Q/\MSG Con be cakmlahdm
kK .Cmay = eVe @ = l.p02%107 ¢
lcioetic meqw dependtsn Vo And hfoauaoc/ oh Nudenl~
llq’h"\ cad iy fﬂdwmdeni bh ldf’nh’rvl lmunqu mfm&l}w
mm\ \nNereadeN N o Pey ih Who*roeloofuom ﬂf\a a«um
XN R . mcomq loveld .
ZL« D choan dheds incraamq lﬂkﬂ/_h]-\{ T (uk)
oaly ingeajel cwenl” butdoe) JL{T Thierniyz
LJ ¢ phed- thz)pma ]ﬂoknhcd 0¢ " ;/”{,;‘.‘.‘.}‘.,

J

M/ma,hganem4 Z
c(cug,mi phqsiu 3uqqauts \a,//T u S

' F—
M f’[) e e !01‘—0\1& i i -\o ...,— o0 )y
u«atqb (£ (. provde  70/e eneigy Eo eleetvin

betowe aht (s a ware . rﬁ,m s Whald~ That

does not fﬁ\ame«
Secsnd phe i rr‘mm s

Now we

L ¢ awrangement of) [yl O and measue 4 ded:
M\ Iuneh C Q/m{aiu bn \acreayi g o de Qr(’apjl”t’/ '
f‘w’auufb/ 5 eonibted Goudce QJq his '-L\,ﬁ_cjmzp}ﬂ

M\ [ fregueary 13 Shpwn Aote. &) /
wt leg 'Hno\l OhohdathnL

ehhcd‘ doey not Ouur "}\ hidg ety /

.n\ “Voudend me{ fillesh o / (4%

Ce/tw'i ‘fhra\haléﬁ 6(Qnuenq/ 4o . 1o




T AER A ARATE

Ll Ll Sn S Sp a5 %111 69

Q. No. 5 (Page 3/6) i bv\wme a0 un
4 = Uk
Ao = C/fFu

Classicall /?IMM!L( yqeié’di Ihad whadeve be thu
hregueay of) “incident ﬁ»thwfke mhmmoacmc
d\hock will oecur I ch ue brnqhb Om'hl- T
/com nok happen.

Prdther trovble oy clansical Physid iy thal~ |-

<uager! 'th'QOLDlCLu e e mining m\ elechony buk
-0 not ebiesved. The cloehiny ore emitted aj
Zoon A ) qu’h’r tally  en matald
Einttein explanehon:.

Elastein explained T,

pheromend o)f“ ploak ) frhw,r Ho~ Lig h=»)
Ollcnhla@[ DY, /JISISh ﬁ\ /)CLULOH ﬂ 00@16’1&
Catlod  phohe

= hi.
He yaud dhad= Mo letaoh ¢ energy sy elathons)
q{\ru-\ by
kEmar=ht-0 )

whor o (D D wode tundhign, O taergy With which
eleeany Oro boar\akﬁh) mekal AuthKc',Q TR
Aot vy energy B (equred hcl/ mhe)i-oolacw
ehleet . oeeors Ty equohun  Show)
(\f\(‘hc,oo_ndmtlbf\ K\anHQf lClqE‘_P?LeantAq,

T aLloCh"f?J CQQCGp’roh Trve) holad hroaumu

_Twe_ light wifn_ frveshold %auenu Lotl] Of\IH
he 0¥B)e v efeck eloption withzao l<ineh




only in the allonted space and inside the outer mark

I g |[HCATRIR AR
E] o The relevant question should be answered only

30

Q. No. 5 (Page 4/6) 0 = hto- d’
ch =hts

o Mc

Ao

Co eaudhu (D) feko) Hormay

[‘:lfmgl — h’f"_h’ihb
L{_ e .E may = W ('F"*F'*)J’

7”«(\) 1y ensten equahiua dl} m\c)h?qlcchﬂh

3 [\I\C’_ ol .

Nudeasd potioat-
When~ tuso \\Gﬂﬁ r\uo\dq_,

arae d“l\\]“h@:‘ f‘OqGﬂ'\G&. hy f\t:fm "\an\ nvde g.
Thyy p%u\(\mtnOn 1) kmouon Q\Aumo\‘n

[n ocdec o pove o Avclic  enuoy
Mmwt be pth\\CLQd . wWide MY be done
Oveome  Yepuldive hO‘“LQ bebwoon pnclio.
The buso avcle MUyt bc Mmived Wifh l/uqlz\
velooty  Toweddl eadn ot % 1> oan
b dwle ooy & provate o lempa alye
oA\ JAAGHA 0\\1 rLgrw\likm cﬁanrzc (Lluus Qélmd,,
(L5 C_ZUJJrP /lfﬁhlc,uk\‘ To (IOhICHQ _ Hen o
AWdt  maleoy fhlk\lm bejbl(‘mﬂ" h aclateve.




LR

_ngpxi!z.uh‘-:&s,ﬁuf,; Sul” A AR S

s
23116679

Q. No. 5 (Page 5/6)
MGA o (AWt b asclic 1y leay dhon
MGLA_\(H\ nudm Hek hmrmczd - Ty (a2
M\ ma\\ Oppe axy GL& x99y oy rdaeb oy
ﬁ.gmcde (E'cmt?-] MG\ (Can \(Joé' g@wu]—ed_ in)
onarau & Vite vex\o .

Fdion i) fovowable t almiyphere of
Starvg S0 Son D) CU\C\QA ol fNoven @are
l’)\@T‘Em C,qdﬂ an(ﬂ qubon LHJJ Harﬂ w e ny)/
Gﬂ\xk C’\\LLU_\J pro o C,uda

_ﬁzotm_r m_oto%;ir
Tt qui £ hovomed

l0”\ VIoey hanNag kmn@«amre leas fﬂofm
pYbWL &>IQ CE\I’\VUlﬁC‘l t ol nudie »
’Fbu; pvored 1 Ui 2 puovas Cembine to homa
Ao Bl uof/’uch Y combinel with 0o ot m(:h?n
ééfm‘!' .Y hoo Sweh moleew) e ccmbmo_h;
ferm GHe &4 coloade mokon. Thoy cycle
Corinved th ﬂM’JwaAL The Stepy (volved anl -

Stepl M F I W AMBEYV (Gune)  O-ULMey
Skopr. H R — FHe 4 (hoice)  S:UQ Moy
el . He 4 2He — YHe +{H HH &Y (2. & Moy
Shepws @ 4.2 —3 Y Uhosice) |01 ey
Net o= 'Y — et 2uB+LV4TY 26 G Mev

The eneou_ volzased 1h dlu,y F’)voccnm
2L ‘\ﬁ\jw The ddaéif'&mn Showppn 0N
Nkt Page -




The relevant qu d be all

estion should be answered only in the alloted

}Inll INII I“Il ‘I |“ E G H
. spacc and inside the outer mark 23116679
Space for Diagram/rough work

Q. No. 5 (Page 6/6)




